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AT fAder / General Instructions

1. 3R @ Ry § % 9 @eeg Rem &t | 1. Candidates are requested to read instructions

FN TEYUETYEF Yo of| NFIAT F g & carefully and advised to adhere to all the
ST ¥ B A R aw wh Rer fdelt @ arew WgHuctions given.
H|

2. T RAecT 1T W 3maRT 02 8¢ &I FHol 2. There will be objective type examination of 02
100 3/t &1 T 2 > hours duration consisting of 100 Multiple Choice

Questions (MCQ) of total 100 marks.
3. 33t A TE Sirdenm gem &k wee gReasr | 3. The candidate must check that the Test Booklet

e & aefaedior : has all 100 multiple choice questions in
2 A w100 geme ) el e Fs sequence. If any discrepancy is noticed, report
fowarfa femrs & & @ @ 3@ Mlem @ same to the Invigilator immediately and request

R &t 3R q@Elr ueel gieasr & T 3R for another Test Booklet.
Cy

4. 35l F Ig FARTI T ART R oue 4. Candidate should ensure that the Test Booklet
ofeqsT F sE% > ; contains total number of pages written on the top
S < & T W forg ame W l of cover page of the Test Booklet. The
T wear gl et gee gfeaet & far o gee candidates shall not remove any page(s) from the
A g gewanm 3R Ife ey wed mo o Test Booklet and if any page(s) is/ are removed

from his/ her Test Booklet, he/ she will be
7ot gsg geTuam 30% WATH FAT ’
s P < ai N prosecuted and shall be liable for criminal action.
FRIEE S et 3R IWOE FRERr F AU
I ISR M|
5. 927 Yi&del 9 39T Uof dea¢ ford gar =uRa 5. Write your Roll Number and put your signature
> Soa) e Y on the space provided for the purpose in Test
T T LARAY Booklet.

6. MUTANR. 3R 93& H U X, 9T gieager | 6. Fill Roll Number, Test Booklet Number, Test

iy N 3{3-1;21’[ - Booklet Code, Post Applied for, Name of
’ > " ’ Applicant, Date of Birth and Signature at
A IR oA ARy o qur suged e W) appropriate place in the OMR Answer Sheet.
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7. 9% GRS & 3 A T wE & AT SEE &
TE B

8. A% W & IR fd@ew g e few arw
fashodl & TE 3R gofoll § 3R IMUAIR. 3R
I3 IR TIT INATHR TATT I Dl HT gl

9. UAF W & W 3W & fAv 01 (v&) 3w
STeen gt I R v #1 e 3w R I
T W wF ¥ 3RF W W RAfFea fFar g,
A W TAR TeT & Qv 1/4 (v Glud) e
Fe feam sream|

10. 935 9% & 3R 8 hdel Ueh IR TUTT H
@l T Uise 9T @ & | GlEe, e,
fehATh 3R Sg-fashed 3w e A S

11.3.TA3N. 39 U6 &I dig FAUSH, SHET e
M, FhAA Tg & HL-HY W TIh Fl
HYOT 8 AT MhR Reg H AHEY @I &
39 A1 3Newsiéer gq et w@d fFAeR
B9 3M.UAIR. 3K TIh T IH HA o HY|

12.3Rd @ue/ afafafe=d &1 3uEer A are
rafdat @ qdem g @ g & e
ST AR 3ofeh 3T 99eh & Hodichel 161 fohdl
STEam|  Jefd @l & yEer # O dfacd
T A I wREEr & fav gfow @t
g T e

13. 9008 TATRT & ggor 337t Y qdiem gl oisa
& JeAfa wr & s

14.76dT o 3FAGaR 1 WMUANR. 3 996 &
gafaa Adets & afY f9ar gfierm gl oiga $r
AT et &1 Seah

15.7RdT off & & oo A W IEAT &
@emw fg.a.3rq, A, garr 33w I« aret
Rdr 3T 3T SO & Gy & 3regdt &
3FHGaRT o Yeg X & STeet

16.7hdT 8 YR & fadie # A U a1 H
ST 3ffare & AT gEN auT AT weer @
RIFem 1 Tt & 3feR &7 7 g

7. Space has been provided at the end of Test
Booklet for rough work.

8. Each question has four options. You have to
choose the correct answer from the given options
and darken the relevant circle on the OMR
Answer Sheet.

9. One (01) mark will be given for each correct
answer and if any question has been
incorrectly answered or more than one
answers have been marked, then for each
such question 1/4 (one fourth) mark will be
deducted.

10. Dark only one circle for each answer with black
point pen. Scratching, overwriting, tick-mark and
multiple answers will be considered as wrong.

11.Invalidation of OMR Answer Sheet due to its
folding/ wrinkling or putting of stray marks on it
or due to any other damage to it as well as
incomplete filling of the Test Booklet or
overwriting on the circle or use of whitener, will
be the sole responsibility of candidate. No rough
work on OMR Answer Sheet should be done.

12. Candidates using unfair means/activities will be
expelled from the examination centre and their
answer sheet will not be evaluated. When caught
indulging in unfair means, the candidate will be
handed over to the Police for further action.

13.No candidate shall be allowed to leave the
Examination Hall before concluding the
examination.

14.No candidate shall be allowed to leave the
examination hall without handing over the OMR
Answer Sheet to the concerned Invigilator.

15. Violation of any instruction shall entail
cancellation of candidature in addition to any
other appropriate action that may be taken by
HFRI, Shimla against the candidate.

16. English version of the Test Booklet will be valid
for any sort of dispute and will be under the
Jurisdiction of courts of Shimla, Himachal
Pradesh.
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) GENERAL INTELLIGENCE AND REASONING

1. Doctor : Patient :: Lawyer : ?
A) Criminal B) Client
C) Magistrate D) Consumer
SigeT: W o ghrer:?
A)  3rRreR B) g
C) =fsree D) sqsiierar
2. Choose the odd one:
A) Tomato B) Marigold
C) Rose D) Lotus
v =
A) AR B) dr
C) areme D) waa

S

3. Complete the series: 8, 16, ?, 64, 128

A) 24 B) 32
C) 48 D) 40
@ F QT F: 8, 16; ?, 64, 128
A) 24 B) 32
C) 48 D) 40
4. Square root of 441/961 is:
A) 21/31 B) 21/11
C) 2141 D) 21/51
441/961 T AL
A) 21/31 B) 2111
C) 2141 D) 21/51
5. Complete the series: EFG: HIJ :: MNO : ?
A) STV B) CDE
C) DEF D) PQR
H@el A [ F: EFG : HIJ:: MNO : ?
A) STV B) CDE
C) DEF D) PQR
6. Complete the series: 5, 11, 17, ?, 29, 37,43:
A) 24 B) 26
C) 23 D) 28
Hge N @ F: 5, 11,17, 2, 29, 37,43:
A) 24 B) 26
C) 23 D) 28
7. How many times the number 99 should be subtracted from 1111, so that
remainder is less than 99?
A) 13 B) 11
C) 12 D) 10
3
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10.

11.

12.

13.

1111 ¥ fraelY I) 99 F YCTAT AT AT, difer AW 99 W HH g?

A) 13 B) 11

C) 12 D) 10
Gujarat : Gandhi Nagar :: Assam : ?

A) Siligudi B) Guwahati
C) Dispur D) Kavarati
TERI - et AIR 12 HAH ;2

A)  TEeeTE B) arameréy
C) AW D)  waw

S

Pointing to a photograph Suraj said, “His daughter Subha is a grand-daughter
of my mother.” Whose photograph was it?

A) Suraj’s Uncle B) Suraj’s Son

C) Suraj’s Nephew D) Suraj’s Brother

waﬁmaﬁrmaﬁvmgw#w,"ma‘a{wﬁfrmaﬁraﬁﬂ
¥ 77 e aedx 4

A)  gIST @ arET B) @& &1 dar
C)  gger @1 HeeT D) = & #1$
Which one is different?

A) Gram B) Kilogram

C) Tonne D) Kilometer
Fia A1 T &

A) A B) fretam#

C) e« D) freieeT

If in a certain code, 95789 is written as EGKPT and 2436 is written as ALUR,
then how will 24539 be written in that code?

A) ALGUT B) ALGRT

C) ALEUT D) ALGTU

Ife v ARga 1T A 95789 F EGKPT 31X 2436 &' ALUR for@r rar & ar
39 ®15 A 24539 FA for@r smeem?

A) ALGUT B) ALGRT
C) ALEUT D) ALGTU
Tractor : Trailer :: Horse : ?

A) Stable B) Cart

C) Saddle D) Engine
dFeT: Ta o WIET?

A)  rEded B) amdr

C) wFrér D) saa

In a certain code, SIKKIM is written as THLJJL, how is TRAINING written in
that code ?

A) QBHOHOF B) UQBHOIOF

C) UQBHOHOI D) UQBHOHOF
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14.

15.

16.

17.

18.

19.

TH ARTd 18 & SIKKIM & THLIIL & & & fo@r sar &, 39 5 &

TRAINING F& fo@r Smeem?

A) QBHOHOF B) UQBHOIOF
C) UQBHOHOI D) UQBHOHOF

Which word cannot be formed using the letters of ‘INTELLIGENCE’?

A) CANCEL B) NEGLECT

C) GENTLE D) INCITE
‘INTELLIGENCE’> & 31&RT &T 39UNT && FieT AT Asq AgT 14T ST Hhell 7
A) CANCEL B) NEGLECT

C) GENTLE D) INCITE

Complete the series: FAG, GAF, HAI, IAH

A) JAK B) HAL

C) HAK D) JAI
@ B T F: FAG, GAF, HAI, IAH

A) JAK B) HAL

C) HAK D) JAI

Select the related letter from the given alternatives: AB: L:: BC:?
A) X B) V

C) Y D) W

e srv Reveat & ¥ G9fT 3aRT &1 797 FU AB: L :: BC:?
A) X B) V

C) Y D) W

Find the odd one from the given alternatives.

A) Foal B) Hen

C) Lamb D) Leveret

T 7w Rewedt # ¥ Ryw F 710 AT

A) B2 FT T B) it

C) AHar D) @emer &1 s

A boy running towards south, turns to his right and runs. Then he turns to his
right and finally to his left. Towards which direction is he running now?

A) East B) West

C) South D) North

U asH ST A AR Slsar ¥ e afRel AR Azar € sk dlsar ¥ R aw
YA 1§ AR Fq3ar ¢ 3R T A el a1 W) 9 7 w Rar F als wr
A) g B) ofeaH

N

C) gfeor D) 3w

How many pairs of letters are there in the word MISCONDUCT which has as
many letters between them as they have in alphabetical series?

A) None B) One

C) Two D) Three
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MISCONDUCT greg # fraat i3 sraw § foerar ot aofamen sf@en & sa& &

fOraa IR
A FS TEr B) ws
) a D) &=
20.  1f 7" June, 1995 was Tuesday, then what day will be on 15" August, 20087
A) Monday B) Tuesday
C) Thursday D) Wednesday
It 7 a1, 1995 F HA@ER AT, A 15 3H9Fd, 2008 F FieT A1 Rt ghamr 2
A)  @FER B)  #FHoreaR
C) AR D)  gear
21.  What will replace the question mark in a series: 2, 5, 9, ?, 20, 27
A) 13 B) 14
C) 15 D) 16
H@er # weAaraF ReF F41 96 &9 2, 5, 9, 2, 20,27
A) 13 B) 14
C) 15 D) 16
22. If SUMMER is coded as RUNNER, then WINTER is coded as
A) SUITER B) VIOUER
C) WALKER D) SUFFER
Iy SUMMER ® RUNNER & & & #Ifsd far aram 8, @ WINTER &7 &I §
A) SUITER B) VIOUER
C) WALKER D) SUFFER
23.  Simplify the problem (3080 + 6160) + 28?
A) 380 B) 350
C) 330 D) 310
HATAT Y I HL (3080 + 6160) ~ 28?
A) 380 B) 350
C) 330 D) 310

24, How many triangles are there in the given figure?

A

A) 15 B) 14
C) 16 D) 20
& o srpfa 7 Rrawr Fager

A) 15 B) 14
C) 16 D) 20
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25. Choose the word which is least like the other words.

A) Faraday B) Beethovan
C) Newton D) Addison
g6 UAsq A AT HeT Asal W FH FATT ¢

A ¥R B) suige

C) Fgea D) cfgas

1) GENERAL AWARENESS

26. Who won IPL-20207?

A) DC B) Ml

C) SRH D) RCB
IPL-2020 freet Sfam

A Srar B) uw3ms
C) wgIRT™ D) 3w«

27. ‘Maitri-Express’ railway service is associated with:

A) India-Bangladesh B) India-Pakistan
C) India-China D) India-Nepal
A-TFaIE Y WAT FT WG 8
A)  HRA-SIEEr B)  #IRa-wfrears
C)  sRa-d= D)  stRa-raret
28.  Which is not biodegradable?
A) Leaves B) Twigs
C) Milktins D) Used tea leaves
i @1 aAfEasee ad &2
A)  ofear B) cgfaar
C) gu % fEea D) g g °1g Hr afaar
29.  Who discovered cell?
A) Robert Brown B) Lamarck
C) Leeuwenhoek D) Robert Hooke
FIfAFT Y @S Faa A
A) I ST3A B) &k
C) drgasEs D) e g
30. lodine is required for the activity of:
A) Thyroid B) Adrenal gland
C) Liver D) Spleen
ITAET T ¢, F FEFAT o:
A) URRISS B) ustwer aify
C) axx D) T
7
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31.

32.

33.

34.

35.

36.

In periodic table each horizontal row is called as:

A) Group B) Period

C) Sub-group D) Sub-period
RfRs taa # v3w difawr dfea &t g1 mar &

A) 9 B) dfRws

C) wwau D) wes-9RTs
Which day is observed as ‘no smoking’ day?

A) 15" July B) 31% December

C) 1% January D) 31% May
fra e A qauE e Rew & &0 & Far s @

A 15FdTS B) 31fwmesR

C) 15aalr D) a1&\s

Who was known as iron man of India?

A) Govind Ballabh Pant B) Subhash Chandra Bose
C) Morar ji Desai D) Sardar Vallabhbhai Patel
ART & dlf ¥ F T A FE @ Srar ar?

A)  Mfdg Jeas da B) gww g a

C) #RR Y E D) WER Toastds ud
Which one of the following gases is inert?

A) Oxygen B) Carbon dioxide
C) Hydrogen D) Helium
Arfaf@a & @ #ia @ i AftFT

A) e B) e SE3fiearss
C) g D) &fos
Hypermetropia can be corrected by using:

A) Convex lens B) Concave lens

C) Concavo-convex lens D) Convex mirror
WA F fFE 39AT g@rT S fFar o1 dFFar §

A 3aa o B) smada o

C) letpla-3ae o D) e gdur

The headquarter of North Western Railway is located at:

A) Bhopal B) Gwalior

C) Udaypur D) Jaipur

3T qRTH Y FT e Fua g

A) 9T B) garfox

C)  3eaw D) s

8
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37.

38.

39.

40.

41.

42.

The main rubber producing state of India is:

A) Kerala B) Tamil Nadu

C) Karnataka D) Uttar Pradesh

HRA HT HET @ 3 T &

A ¥xa B) affteres

C) FAeE D) 3% gewr
Which river is most described in Rig-Veda?

A) Gangariver B) Sindhu river

C) Yamuna river D) Sarswati river
#9ag # i @ A e HfOF afvia

A)  FreT FE B) Ry adr

C) a7 D) axwad 7

India won its first hockey gold in:

A) 1928 B) 1932

C) 1936 D) 1948

R oF 3YAT Ugell giehy Fgol Sham:

A) 1928 B) 1932

C) 1936 D) 1948

Which of the following is not associated with UNO?

A) ILO B) WHO

C) ASEAN D) All of the above
frfafad & ¥ T g o 3 ¥ gElta 7

A)  3E T A B) sacyg uw 3

C) ufags D)  Iwiea @l
What is the minimum age limit to play international cricket as per new ICC
policy?

A) 15 years B) 16 years

C) 17 years D) 18 years
7% ICC AT & IR Haedr frde daat & o sgerasr 3y de F4r 82
A)  159Y B) 16a¥

C) 17ay D) 184y

Which part of human body is affected first of all by nuclear radiation?
A) Lungs B) Kidney

C) Heart D) Brain
AWa AR F Pl @1 REwr oy Rfer @ ga@ wwod vanfda gar
A Fwg B) arar

) f= D) #Afeass

9
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43.

44,

45.

46.

471.

48.

Which one of these personalities was born in present day Tamil Nadu?

A) JlJayalalitha B) AR Rahman

C) M G Ramachandran D) Rajnikanth
§1 & ¥ qoiAE dffeerg & fhaer seA gam an

A) S STeforeT B) v 3w wA=

C) uwH St UH=gT D) olteia
World Toilet Day is celebrated on

A) 1% November B) 4™ November

C) 11™ November D) 19" November
faeT aterer Raw #em@ Sar §

A) 1 FAgFR B) 43aFsR

C) 11saFR D) 19 #gFsR

The driest area of Himachal Pradesh is ..........

A) Chamba B) Spiti
C) Kinnaur D) Lahaul
RATTer oo F1 TR LF AT ... gl

A) T B) w=hfa
C) freik D) cmela

Which article of the Indian constitution provides freedom to manage religious
affairs?

A) Article 25 B) Article 26

C) Article 27 D) Article 28

AR WU #1 FiT 61 eTede anfiE ATTEl & yaue @y FaaEdar e Hdr
)

A) IO 25 B)  3r1e0c 26

C)  sweog2r D) 3r1eec 28
Who was the first Speaker of Himachal Pradesh Vidhan Sabha?
A) Sh. K. L. Mehta B) Sh. Jaiwant Ram

C) Sh. Thakur Sen Negi D) Sh. Krishan Chand
Rarae yeer Ry & ggar regat sia &2

A) M T Agdr B) &Y Saaa 1

C) o= o Al D)  sfrawor @i

The first underground hydro-electric project of Himachal Pradesh is:

A) Nathpa Jhakri Hydroelectric B) Sanjay Jal Vidyut Pariyojna
Project
C) Baspa- Il Jal Vidyut Pariyojna D) Karchham  Wangtoo Jal  Vidyut
Pariyojna

10
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fearaer weer #r gl ffera gafasrel aR@er ¢

A Frar FES Sdfdega B)  dea S Rega o
RIS

C) sua- I e Rega af@ieer D) axew amrg S faggd aRaisen

49.  Which one of the following is the biggest Wildlife Sanctuary of Himachal

Pradesh ?

A) Lippa-Asrang Wildlife B) Rakchham-Chhitkul Wildlife Sanctuary
Sanctuary

C) Kibber Wildlife Sanctuary D) Daranghati Wildlife Sanctuary

fArfaf@a & ¥ il ReEaT veer 1 T9d 937 Tgellg IFARVT 72
A)  TIg-37E0T e gSild HFIRug B) <erw+|'€9degc4 JeIod 3TFIRUT
C) ey T=INT FIRTT D) RO degoid FIRVY

50.  Whish district is famous for production of Seed Potato in Himachal Pradesh ?

A) Kinnaur B) Chamba

C) Lahaul & Spiti D) Shimla
Reoraer waor & e A sewes & v Fia @ e 9ffey
A) Rk B) et

C) omler 3k whfa D) Rer

1) NUMERICAL APTITUDE

51. If 5 men can complete a work in 15 days, then find the time to be taken by 25

men
A) 3days B) 5 days
C) 8days D) 10 days

IfE 5 9¥w 15 RaAl & v F7 @ FT ¥Fa ¢, A 25 [ q@arT 399 fFo I
are AT F ATG T

A) 3 B) sfea
C) sfea D) 10fRs
52. If the area of a square is 289cm?, then one of its sides will be:
A) 17 cm B) 23 cm
C) 13 cm D) 27 cm
e fRdt aat F1 aYawer 289 ¥ #H? & aY IWFHT TH HIT N
A 17F B) 23& =+
C) 13T A D) 27 @&
53.  The value of 0.169 divided by 13 is equal to:
A) 13 B) 0.13
C) 013 D) 0.013
11
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13 ¥ fasnfaid 0.169 FT AT TS TET ¢

A) 13 B) 0.13
C) 0.13 D) 0.013
54.  The circumference of a circle having diameter D is equal to:
A) 2nD B) =D
C) =D/2 D) =nD/4
F ga e s f f aRfer g
A) 2nD B) nD
C) nD/2 D) =nD/4
55.  What is the square root of 0.9 up to one place of decimal?
A) 03 B) 09
C) 0.09 D) 0.03
SUAAAT F TH T aF 0.9 FT FHHASA FIAT 87
A) 03 B) 09
C) 0.09 D) 0.03
56. The longest chord of the circle is its...............:
A) Radius B) Tangent
C) Circumference D) Diameter
gd T G oaT aR SHPT ... &
A B B) TR
C) qRfa D) =g
57.  What is the cube root of 1331?
A) 11 B) 21
C) 31 D) 41
1331 &7 GAHS FAT g7
A) 11 B) 21
C) 31 D) 41
58. If in 2 years principal of Rs. 100 amounts to 121, when the interest is
compounded annually, then interest rate is:
A) 5% B) 7.5%
C) 10% D) 12.5%
g 2% # Aw A 100 5. FT A aF T @ FTHEAT @A W 121§ S B,
ar SO T &
A) 5% B) 7.5%
C) 10% D) 12.5%

59.  The current population of the town is 10000. If the population increases by 10%
every year, then the population of the town after three years will be.........
A) 13330 B) 13320
C) 13000 D) 13310

12
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60.

61.

62.

63.

64.

65.

AT FT TAA FTHEAT 10000 1 X FTwEAr # & A 10% Hr Jeftr et g ar

e ast & a1 AT H FTAAEAT ... gt
A) 13330 B) 13320
C) 13000 D) 13310

A river 3m deep and 60m wide is flowing at a rate of 2.4km/h. The amount of
water running into sea per minute is:

A)  7200m° B) 6800 m®

C) 6400 m® D) 6000 m®

3 #iex aEdt 3 60 Hiex =l afY 2.4 Bl wer i W & 97 W B WS
7 9fa fAee T8« a = f #A6T §:

A) 7200 #° B) 6800 #°

C) 6400 #® D) 6000 #H°

What least number must be added to 1056, so that the sum is completely divisible

by 23 ?
A 1 B) 2
C) 3 D) 4
1056 & FA & FA FIAT &AT AP AT, a1fer AT 23 & 7 @ @ fsrsw &@r
A 1 B) 2
C) 3 D) 4
The largest 4 digit number exactly divisible by 88 is:
A) 9944 B) 9768
C) 9988 D) 8888
4 P HY FEH a9 WEAT SN 88 FART o favTTST ¢
A) 9944 B) 9768
C) 9988 D) 8888
Complete the series: 3,4, 7,8, 11,12, ..........
A) 14 B) 15
C) 16 D) 18
@ H QW F: 3,4,7,8,11,12, ...
A) 14 B) 15
C) 16 D) 18
The cube root of .000216 is:
A) 0.6 B) 0.06
C) 0.006 D) 0.0006
000216 FT TTHA 8
A) 0.6 B) 0.06
C) 0.006 D) 0.0006

A sum of 12,500 amounts to 15,500 in 4 years at the rate of simple interest. What
is the rate of interest?

A) 3% B) 4%

C) 5% D) 6%

13
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66.

67.

68.

69.

70.

71.

HTYROT sOTsT &Y ST G 4 asf & iy 12,500 F 15,500 & AT §1 sIATT ST FAT &2

A) 3% B) 4%
C) 5% D) 6%
What is the number whose 20% is 30% of 40?
A) 90 B) 80
C) 60 D) 50
a¢ WEAT F41 § a1 20% 40 &1 30% &7
A) 90 B) 80
C) 60 D) 50
What is cot 15° cot 20° cot 70° cot 75° equal to?
A -1 B) O
C) 1 D) 2
cot 15° cot 20° cot 70° cot 75° fFEd TR &2
A -1 B) 0
c) 1 D) 2
The highest common factor of 4x2- 9, 2x? + x - 6 and 2x3- 3x*- 2x + 3 will be......
A) 2x-1 B) x-4
C) 2x-3 D) 2x+5
4x%-9,2x% + x - 6 3 2x- 3x%- 2x + 3T ITAAH WIHATT HRF .......... g
A) 2x-1 B) x-4
C) 2x-3 D) 2x+5

The average of two numbers is 7.5. The product of two numbers square root is 6.
The two numbers are..........

A) 13,12 B) 9,6
C) 10, 5 D) 12,3
ar wEarHt 1 JEa 7.5 §1 &Y FRl FT VST A 6 g1 & WEAW ... gl
A) 13,12 B) 9,6
C) 10, 5 D) 12,3

Find the greatest number that will divide 148, 246 and 623 leaving remainders 4,
6 and 11, respectively

A 12 B) 14
C) 15 D) 16
9 99 &A1 AT L ST FAA: 148, 246 31X 623 H fsnfora T 4,6 3T 11
AY B3
A 12 B) 14
C) 15 D) 16
Find the remainder when 73x75x78x57x197x37 is divided by 34.
A) 32 B) 30
C) 15 D) 28
73x75x78x57x197x37 H 34 ¥ RSId = W AYhA A HITAT|
A) 32 B) 30
C) 15 D) 28
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72.

73.

74.

75.

If the LCM of two numbers is 936 and their HCF is 4 and one number is 72, then
find the other number.

A) 42 B) 52

C) 62 D) 72

Ifg @ WEAst F AgaH FHGAdE 936 ¢ IR IAH FegwH WAMEAF 4 T IR
TF WEAT 72 ¢, A gl wEAr A v

A) 42 B) 52

C) 62 D) 72

A shopkeeper fixes the market price of an item 35% above its cost price. The
percentage of discount allowed to gain 8% profit is?

A) 18% B) 20%

C) 22% D) 24%

UF FFEEGR FIN AN Aed ¥ 35% FW Rt avg A ferd a7 war ¢

ot gfaerd ge & aif% 8% «mT 9red &

A) 18% B) 20%

C) 22% D) 24%
Average of all prime numbers between 30 to 50 is---?

A) 37 B) 37.8

C) 39 D) 3938

30 ¥ 50 & T et 3rrrer wEATat & e & -2

A) 37 B) 37.8

C) 39 D) 3938

Find the average of all numbers between 6 and 34 which are divisible by 5.
A) 15 B) 20

C) 25 D) 30

6 3 34 ¥ T Tt FEaTat &7 twa AT FE ' 5 F Qs F
A) 15 B) 20

C) 25 D) 30

IVV) GENERAL ENGLISH

76.

77.

78.

79.

Fill in the blanks: I can not put ---------- the foul smell.

A) up B) in

C) up with D) inwith
Fill in the blanks: This apron has no pocket to-------------- .

A) put thing B) putting things

C) things to be put D) putthingsin
Fill in the blanks: People should do -------------- dowry system.
A) Away B) Off

C) away with D) off with
Fill in the blanks: When she arrived, | ----------- for ten minute.
A) have been waited B) have waited

C) waited D) had been waiting
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80.  Choose the correct meaning: ‘Confiscated’:

A) Seized B) Destroyed
C) Sealed D) Burnt
81. Choose the correct meaning: ‘Aggregate’:
A) Sum total B) Entrance
C) Sumup D) Annoyed
82.  Choose the correct meaning ‘Knack’:
A) Love B) Aptitude
C) Dislike D) Desire

83.  Choose the correct option:
A) The Yamuna is the holy river. B) The Yamuna is an holy river.

C) A Gangais a holy river D) The Yamuna is a holy river.
84. Change the voice of: ‘Practice makes the man perfect.’
A) A man is made perfect by B) A man was made perfect by practice.
practice.
C) A man had been made perfect D) A man have been made perfect by
by practice. practice.

85. The antonym of ‘Legal’ is:

A) Unlegal B) Illegal
C) Inlegal D) Dislegal
86.  Synonym of solitude is:
A) Musical composition B) Aloneness
C) True statement D) Single mindedness

87.  Antonym of intrude is:

A) Withdraw B) Acquire
C) Accept D) Surrender
88. Find the correctly spelt word:
A) Enterpreneur B) Entreorenure
C) Entrepreneur D) Enterprenure
89. One word substitution for the sentence ‘Person who does not believe in the
existence of God’
A) Theist B) Heretic
C) Atheist D) Fanatic
90.  You will soon get accustomed the change of climate.
A) To B) In
C) At D) For
91. Fill in the blanks: Sent in ........... is waiting.
A) whoever B) whomever
C) that D) Which
16
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92.  Antonym of ‘Moderate’ is

A) Abnormal B) Average
C) Extreme D) Separate
93. Which of following best expresses the meaning of ‘Admonish’
A) displease B) annoy
C) irritate D) Chide
94.  Single word for each of the following phrase/sentence ‘Time and space without
limit’ is ............
A) limitless B) Finite
C) Infinitude D) Transcendent
95. Single word for each of the following phrase/sentence ‘Harassed by a fixed idea’
IS cevevnrereennns
A) Harangue B) Nervous
C) Obsessed D) Fulminate
96.  What is the synonym of word to commence?
A) Toend B) To begin
C) Tofinish D) Torun
97.  Which of the following sentence is correct?
A) Me and my wife went to fair. B) My wife and myself went to fair.
C) My wife and | went to fair. D) Muyself and my wife went to fair.
98. Give the one word for “A list of names of books”.
A) Biography B) Autobiography
C) Catalogue D) Analogue
99.  To give one’s authority to others:
A) Intimidate B) Delegate
C) Abdicate D) Desecrate
100. The accused begged the judge------- mercy.
A) for B) to
C) of D) with
*khkkhkkhkkikkkhkkhkkkhkkhkkikkkhkhkkikhkikkk
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ROUGH WORK
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